Q.P. Code : 13224

Second Semester B.Com. Degree Examination, May/June 2019
(CBCS Scheme)
Commerce

Paper 2.6 - QUANTITATIVE ANALYSIS FOR BUSINESS DECISIONS - I
Time : 3 Hours] [Max. Marks : 70

Instructions to Candidates : Answers should be written completely either in English or

Kannada.

SECTION - A/ %1 - &

Answer any FIVE sub-questions. Each sub-question carries 2 marks : (5 x 2 = 10)
3 NS 030 WETe DT eVB-ZBRIrt eu3dR. BB, ovS-Z371t 2 wozneh :

1. (a) Define Statistics.
30&3%5355 mﬁsa)zsa’di 392,

(b) State the various measures of central tendency.

dot;fasd) BI30b SRS APIE), 392

(c) What do you mean by current year?
1309 I3 HowBeRO?

(d) What is TRT?
TRT 30¢g d0@demd?

() If X =13, Z =15, find Median.

20030 = 13, wao=03 30030 = 15 eswan asot;%ﬁm’ ﬁdqbﬁ% 822,

(ff  What is tabulation?
BEIETTE 0TI ERO?

(g) State any four merits of Standard Deviation.
OREH, BEOTODFOD 0dRR)WTTH Toe), suBodeennes) 392.
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SECTION - B/ 2wen - ®
Answer any THREE questions. Each question carries 6 marks : (3x6=18)
8 3YNT adnZ) @t Saeth FBHIr ev3d2. =38 TB 6 wosndh :

Construct the consumer price index number using family budget method :
eI Se3 201508V, TYNT B3Y083, F0Ed0wW BOWIE AFITVBE, F0B &BOD :

Items : A B @ D E F
JDIBENYD

Units : 100 80 30 10 8 2
00 N

Price in 2015 (Rs.) : 40 30 70 30 20 900
3¢5 2015 (dw.) :

Price in 2018 (Rs.) 60 45 100 50 40 1200
W3S 2018 (ow.) :

From the following data compute Median :

Income in Rs. No. of Workers
More than O 100
More than 1000 90
More than 2000 75
More than 3000 50
More than 4000 25
More than 5000 10

B8 FINT SHHI0WOT :bz%ﬁdd% TOTwO &HBOWO :

©8wo0d (Tw.) TOFTT 10
0 303 2wy 100
Al
1000 303 33 90
L .
2000 03 @23y, 75
3000 303 &), 50
4000 3,08 330 25
3 %
5000 808 &) 10
[A)
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4.  Calculate quartile deviation from the following data :

) B FYNT I&HI0WOT WILTET &&’}6305.)(‘&2{ TOBO &BOWD :
X: 15 24 33 42 51
Fi 3 5 15 il 5

5. From the following information find :
(a) Which of the factory pays larger wage bill?

(b) Which factory wages are more variable?

Factory A Factory B

Number of wage earners 250 200
Mean wages (Rs.) 40 45
Variance 100 225
S 5YNT SIP&HI0DOT :

(@) odR= TaaTER oI ﬁzﬁaﬁ ﬁozaeiaﬁﬁqi WEITB mmgcfomda‘% 392

(b)  0d»S FeazerFodn ) HIOTVOINY, HOWYIT), FOBIIHWOWITE), 892

Torwm A Foer® B

30w BT FPTTTO 250 200
A0RD F0wY (Tw.nYd) 40 45
AT 100 225

6. The marks scored by 50 students in an examination-are given below. Taking
class interval of 10-20, 20-30, 30-40 etc., prepare a frequency table :

WO BDegobd 50 DR FIT0B0d woFNYR), NYATLZT. Smeeodd 10-20, 20-30,
30-40 To3 &0 6530y Tud

11 29 30 71 85 94 16 24 39 65
41 25 63 81 92 77 79 80 37 53
58 48 41 39 49 41 21 74 57 52
18 55 64 75 28 24 38 48 51 58

65 78 56 47 52 63 58 38 47 55
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SECTION - C/&won - % 9.  Life
| mo
Answer any THREE qustions. Each question carries 14 marks : (3 x 14 = 42) =
8 3YNT 0dF)WRTL SRt IRV eu3d2. T3 n_"géd.ﬂ 14 esosnied : of
7. Calculate Mean, Median and Mode from the following data : Lif
S9N Bk30N0E FOIRD, F0F,3 WEIRMYR), Fom> BBOVD: 3
Marks (above) : 10 20 30 40 50 60 70 80 90
®oTnINos msu-.
No. of Students: 100 97 87 74 50 37 25 17 5
SlapRalggl 30955 1
8. Construct Fisher’s ideal index from the following and show how it satisfies TRT
and FRT :
& FYNS méﬁﬁsod HBOT SBBE RPW0TDTY, 30ry &BOWY. & et TRT S8y FRT
So0eFBNIDY, ZariedR3ornrn), 30603 |
Commodity 2015 2018
Faninla 0. 8
t
Price Quantity Price Quantity :
FALS ] R0T59€9 ¥s 3OS
i
A 20 10 25 12 :
B 9 20 16 25
C 4 12 14 16
D 12 7 35 17
E 10 10 30 15
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Q.

10.

Life of two models of refrigerators obtained in a survey is given below. Find which

model has greater uniformity of life :
2TR I»PFONY 8xdesven abog e o 8 91t pBwINE. oz Inwdob Sgdesdn
a0 303530 worse 3TTaNT?

Life (No. of years) No. of Refrigerators
&0 (IRFNYY) 85dez0e obog el Zos
Model ‘A’ Model ‘B’
=00w0 ‘A’ -
0-2 6 3
2-4 15 16
4-6 13 12
6-8 8 18
8-10 5 10
10-12 3 1

Convert the following distribution into more than cumulative frequency and less

than cumulative frequency and find the median graphically. Verify the result
through actual calculation :

FINTITTY, B0e0’ AR Bore S5° WM BFZTON WBLPOV, SOF T, Bewotddn S

FomY &B0VD Hone am’aizl J0e

Wages (Rs.) : 0-20 20-40 40-60 60-80 80-100
309 (0R.) :

No. of Workers : s 10 35 90 55 10
FOIMOT ﬁfé{s :
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